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It is proposed to consider the polygon option also for the InterferingLink and to use the same input for the system links. 

‘Shape of the polygon’ refers to ‘int n’ of the source,
‘turn ccw’ to ‘double deltaPhi’.
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(G (2013-10-28] Offcial SEANCAT 4.1.0 5 now available. GEED [2012-08-14] Read the (on-line
‘manual) for up-to-date help
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IItvrDistTrial = itvrDistance.trial(]
rItvrAngleTrial = itVrangle.trial():

rRsima = getInterferinglink() .gecInterferinglinkTransmitter () .getRsima();
7/ TODO KK

boolean usePolygon = true;

1£(tusePolygon)

B

rResultItVrDistance = Math.sgrt((Math.povw(rRsimu, 2) - Math.pov (protectionbistance, 2)) * Math.pow (rItVrDistTrial,
resultPosX = rResultItVrDistance = Math.cos(rItVrAngleTrial * Math.PI / Constants.PID);
resultPosY = rResultIcVrDistance * Math.sin(rItVrAngleTrial * Math.PI / Constants.PID)
resultPosX += getIt2VrPath().getbeltaX()
resultPosY += getIt2VrPath().getDelta¥();

else{// does not consider protectionDistance

double PI = Math.P:
double deltaPhi = 45
double rRmaxPolygon = rRsimui;
int n = 4; // number of the polygon could be an input parameter 12
if (n > 2) {// at least a triangle, otherwise a circle is generated
double sector = 360 / n; // part of 360 degree of a single triangle
double rPhi = rItVrAngleTrial - deltaPhi; // virtually turns the shape by deltaPhi
int skip = (int) (zPhi / sector); // moves to that triangle the angle TX - Rx points to
double rAngle = Math.abs(skip * sector - rPhi); // takes only that part of the angle within the triangle
zhngle = sector / 2 - rAngle; // builds a rectangular triangle together with internalRadius
double internalRadius = rRsimu * Math.sin(PI / n) / Math.tan(PI / n); // rRmax is taken as circumcircle of the
rRmaxPolygon = internalRadius / Mathematics.cosD(rAngle); // max distance within the polygon at the given angle
rRsima = rRmaxPolygon:

resultPosX = rRmaxPolygon * rItVrDistTrial * Mathematics.cosD(rItVrAngleTrial) + gecIt2VrPath().gecDeltaX()
resultPosY = rRmaxPolygon * rITVDistTrial » Mathematics.sinD(rItVrAngleTrial) + getIt2VrPachl().gecDelta¥();

System.out.printin(resultPosX + "\" + resultPosy);

2) + Math.pov (protectionbistance,

polygon

2));
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